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Question ID:- 11

FIDELITY

Choose the word similar in meaning to theé one@iven above :
(1) Fame

(2) Loyalty

(3) Affection

(4) Joy

Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,
= 4, Option ID :- 44,



https://t.me/Teachingexam

Answer Given:- 3, Option ID : -43

Question ID:- 12

IMPENDING
Choose the word similar in meanjng to the one given above :

(1) Incidental

(2) Interesting
(3) Serious
(4) Imminent

Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
= 3, Option ID :- 47,

=« 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13




Identify the Part of Speech of the underlined word in the following sentence.

He bought me a walking stick.

(1) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

=1, Option ID :- 49,
« 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14



https://t.me/Teachingexam

He gave me a beautiful book.

Choose the option in which the above sentence has been changed into Passive Voice :
(1) A beautiful book was given to me by him.

(2) A beautiful book was given to me.

(3) I was given a beautiful book.
(4)

4 I have been given a beautiful book.

Options:-

=1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

He said to me, “Will you please help me ?“

Choose the option in which the above sentence has been changed into Indirect Speech :
(1) He requested me if I will help him.

(2) He asked me if I would please help him ?

(3) He requested me if [ would help him.

(4) He asked me if I shall help me.




Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
= 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

Rearrange the following jumbled words/phrases intoya meaningful and grammatically correct
sentence.

(A) her second one
(B) her mother

(C) child,

(D) to another

(

E) gave birth
(1) ACBDE
(2) BEDCA
(3) CEBDA
(4) DACEB

Options:-




=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Identify the part of the followings in which there is an erfror.
Ram told/me that/he has/lost his book.

(2) (b) (<) (d)

(1) (a)
(2) (b)
(3) (¢
(4) (d)
Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67




Question ID:- 18

Fill in the blank in the sentence given below by choosing option out of the one that follow.
You should be sure that he won't his word.
(1) putup with

(2) go back on
(3) putout of
(4) run away with

Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19




Fill in the blank in the sentence given below by choosing option out of the one that follow.

Lata kicked a row over nothing.
(1) up

(2) out

(3) off

(4) into

Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

Fill in the blank in the sentence giveri below by choosing option out of the one that follow.
It will him if he lagés the match.

(_

go out with

=2

)

) come out on
) go hard with
)

1
(
(3
(4) come off with




Options:-

=1, Option ID :- 77,
= 2, Option ID :- 78,
« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GH_Q11-Q20_KPTGTSCI

Question ID:- 21

== feu U 729 =l Tt At 3huq fashed #rade shilen-

HrAfEeR T A eAehia At fe TREm 1 gfiEane §l aRar o STurerdid, STeaae], TUar 3R gus
HFA Heldl o1 =AY S §99 2 9ok el IR gyt &1 R o9 Yehdl 2|

Yftar & qfEan w1\ T | ga 2 gL gfian § o1 S @ ?

(1) Y3-guid

(2) W

(3) STgREA

(4) gU<HMA
Options:-

=1, Option ID :- 81,




= 2, Option ID :- 82,
= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

= feu U =Y @ Yok TdfHeF 3fEa fasey & =9 wifens

AT W H Ak =i afe 9iER =1 giean € @ TRaRs SHYEAEAd, TeTee, SUER 3R g6
T el &1 A S G99 § e ey uftay g9 %1 R 59 g B

YR & U™ 1 R0 T8 &

(1) SARITETRA

(2) STHATE

(3) SUHER

(4) HRER @ giEa
Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,




= 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

e feu U TR i U Halueh 3rad faehed 1 =aH hifsiu-

AAfEe W F ki safe afe ofier = gfem & @ afar § srenaae, srereten, =R oK gEg
e Gl 1 =9 S §99 § S0 werawy ufier gy 3 R o1 g9 B

T % STUR T FHal S Fohel & T T e e B
(1) 3Tshid Al
(2) HEREE T
(3) HFAE HeH
(4) fER & g
Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90




Question ID:- 24

== feu U 7= @ Uedk TdlfHeF 3fEa fasey & =9 difed-

AT W T 3Tehid =Afed afg afar &1 gfea 2 @ aRar | sHemamédgn, dAeaewe, U= 2R gEs
A Hel 1 = S G99 § o werkaey giEar gui w1 R 5 g T

g™ o1 oy osg &~
1) ¥
(2) HEs
(3) g
(4) HiuFH
Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25




== fou 1T =Y i UeH Wity 3faa faskey & 92 Fifeu-

T W F AT i e uiER = giear € 6 uRar § SFerEEEiE, sreree, UER 3R g
e Ha4] 1 =AY ST G99 8 S0 wereaey 9 guiE &1 ReR 59 99 B

(1) gU=ER

(2) SRR

(3) A=A

(4) B
Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
= 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26




AoIH -5 9d &5 1 ShiA-H1 ITH T § ?

(1) &AFF-31mm
(2) TEH-HE
(3) Hd-94
(4) U&-vad
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27




HiY o -9l IEE HHT © ?
(1) sfa+ snfg = gefg

(2) TS+ =Rff = T

(3) HEl + IHA = HESHA

(4) W + A = UM
Options:-

=1, Option ID :- 105,

=« 2, Option ID :- 106,

=« 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28




“ferror’ =1 yRTHaETET IS TR e

(1) |
(2) @9
(3)
(4) gfem

Options:-

=1, Option ID :- 109,
=« 2, Option ID :- 110,
= 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29




1 5 | facim wsg &1 SF-91 Z 376 § 7

(1) oA - gk

(2) AN - FEAM

(3) STRIE - 3Tl

(4) =t - T
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30




(1) T
(2) =
(3) et
(4) el
Options:-

=1, Option ID :- 117,
= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : GA_Q21-Q30_KPTGTSCI

Question ID:- 31

What is the decimal equivalent of Hexadecimal number 31 ?
(1) 49

(2) 42
(3) 48
(4) 41

2




ISy AR HE&A 31 1 SIHA HHIed 1 ¢ 7

(1) 49
(2) 42
(3) 48
(4) 41
Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
=« 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32




Which of the following statement(s) is/are correct ?

(A) TForce of friction always opposes motion of objects.

(B) Force of friction always goes along the motion of objects.
(C) Inertia is the natural tendency of objects.

Identify the correct answer from the codes given below :

) (B) and (C) are correct
2) (A) and (C) are correct
)
)

Only (A) is correct
Only (B) is correct




frafafaa 9§ @ &F /4 &uE 98t 878 ?

(A) =T 1 T God FEge i A % fawia g @
(B) HYUI 1 9 Had akgedl #l = F WY o §
(C) STgar a1 siscd a&ged st Aafifs ygfa g |

i< feu 7T %2l | W@ 39 H FHA fRie

Options:-

=1, Option ID :- 125,
=« 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33




Consider following statements regarding Mission SAGAR :

(A) Under the overall ambit of Mission SAGAR, Indian Navy undertook transhipment of
Humanitarian and Disaster Relief (HADR).

(B) Humanitarian and Disaster Relief (HADR) was provided to countries around the world and
not confined to Indian Ocean Countries only.

Which of the statements given above is/are correct ?

(1) (A) only

(2)  (B) only

(3) Both (A) and (B)
(4) Neither (A) nor (B)




Togm arr & gy 1 fA=fafas e «w fa=ar s
(A) T TR THy SRR H, AT A8 S eadrEre SR STIe T (TH.UEL 2R, ) i ugE %l

Tomran
(B) WHHEGIEE! SR 9e Ted (TH. TSl ) TURY o <F01 ] UM 1 T2 AR I8 Fad fe< TarrR
3I9gad H 9 A "I/ FHU el o/t /
(1) <haa (A)
(2) had (B)
(3) (A) ¥ (B) M
(4) o T rE off T
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
=« 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34




Match List - I with List - II and select the correct answer using the codes given below :

List -1

(Dronacharya awardees, 2022)

(A) Shri Raj Singh

(B) Shri Dinesh Jawahar Lad
(C) Shri Jiwanjot Singh Teja
(D) Shri Mohammad Ali Qamar

Codes

(A) (B)
(1)  (v) (i)
(2) () (W)
(3) (@) @
(4) (i) ()

(©
(i
i)
@)
0

 —

(D)
y

ii)

._.ﬁﬁ._.
=.E+ ]
. -
e - L

o —

A
EtE

™

)
*
(]
. 4
 —

_———

™%

(S

List - 1T
(Sports/Games)
Archery

Boxing
Wrestling
Cricket




HEIr-1 31 Geii-11 1 foer IS a2 == U 77 32 o1 940 id g4 ¥el 0L 1 =97 Hif :

qll-1 Hei-11

(EroTrerd grEeRT farstar 2022) (@)
(A) 4t Ts oz (i) e
(B) i fers Stamet &g (ii) yerarsi
(C) i S e =i (iii) el
(D) 4t Higw g el T (iv) frepe
e :

(A) (B) (©) (D)
(1) (@v) (i) (i) (3
2) @ (iv) (ui) (i)
3) @) (1O (iv) (i)
(4) (@) (iv) () (i)
Options:-

=1, Option ID :- 133,
« 2, Option ID :- 134,
=« 3, Option ID :- 135,
= 4, Option ID :- 136,




Answer Given:- 4, Option ID : -136

Question ID:- 35

Which Title/Book has been selected for the Sahitya Akademi Award 2022 in Assamese
language ?

(1) Bengal Bahu Dur
(2) Bhool Saitya

(3) Dokmokali
(4)

4 Sonar Samus Mukhat Loi

st 9T ° Wi STeRIeHT TR, 2022 Ffan Ry it/ g 1 g T § 7

(1) =HTiet §ig gX

(2) el HigeA

(3) SIRHRTA!

(4) HHER 9HY qEd @3
Options:-

«1, Option ID :- 137,
= 2, Option ID :- 138,
=« 3, Option ID :- 139,




= 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139

Question ID:- 36

Which of the following states in India was given full statehood as a result of a Peace Agreement
signed in 1986 between the Union Government and the leadership of a secessionist movement ?

(1) Tripura

(2) Nagaland
(3) Mizoram
(4) Sikkim

Fg TUHR 3 Jerame STee & Jaiel % s19.1986 B graela v vifa wuga & Romesy feg
1 U1 T3 R &1 @l 7T ?

(1) fgu

(2) FTAS

(3) THsim

(4) TaferA
Options:-

=1, Option ID :- 141,




= 2, Option ID :- 142,
« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following peaks of the Himalayas is/are locatediin India ?
(A) Dhaulagiri

(B) Nanga Parbat

(C) Annapurna

(D) Kamet

Choose the correct answer from the codés below: :

(1) Only (A)

(2) Only (A) and (B)
(3) Only (B) and (C)
(4) Only (B) and (D)




femrer =1 frefafea § 9 @ ot 96 = awa § frem €2

(A) HEfr

(B) Hmued

(C) =T

(D) T4

9 fau TU e § WE W FH T FI
(1) ad (A)

(2) I (A) 3R (B)

(3) ad (B) R (C)

(4) e (B) 3N (D)

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38




Which of the following is not an example of a Eukaryotic organism ?
(1) Fungi

(2) Chimpanzee
(3) Bacteria

(4) Protozoa

frefafaas O 9 o 9™ S=@! Sig & TF TR 6 64

(1) <ha%
(2) TSt
(3) SirEry
(4) HESET

Options:-

=1, Option ID :- 149,
=« 2, Option ID :- 150,
« 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151




Question ID:- 39

Consider the fD]]DWing statements.

(A) The section onFundamental Duties” was not part of the original Constitution of India adopted
in 1950.

(B) It was inserted through a series of Constitutional amendments in the decade of 1960s.
Choose the correct answer from the code below :

(1) (A) is correct but (B) is wrong

(2) Both (A) and (B) are correct and (B) explains (A)

(3) Both (A) and (B) are correct but (B) does not explaini(A)

(4) Neither (A) nor (B) are correct




frrfafaa Fuei T farar Hif -

(A) “Hel Fiet’ @e 1950 1 Siiiehd URA % ger WfEHE 1 Tk 9 T 91

(B) 38 1960 % wvih H foru 7 Haenfie weiier 1 sjwen % qreEm 4 fafdy fra o
2 feu 70 e | W W H =TI FIC

a)wﬁﬁ@

(2) (A) 3R E‘lﬂ‘lﬂﬁ%aﬂi ,A)aﬁwm%
(3) (A) TR (B) i Wl € fohg (B), (A) 1 T8 TET il
(4) ‘qﬁﬁ@rﬁ‘éﬁﬂﬁﬂﬁ%

Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : =154

Question ID:- 40




Which among the following newspapers/journals published in colonial India was not founded by
M.K. Gandhi ?

(1) Nav Jeevan

(2) Indian Opimion
(3) Young India

(4) Bande Mataram

simfFafemr sma o ysifee o umem vt/ afemsdi ok s 9.5, el 57 el o) T of ?

(1) & Sited

(2) sfeaa sAfufA

(3) I Efem

(4) @< HIGH
Options:-

«1, Option ID :- 157,
=« 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160




Subject : RA _Q31-Q35_KPTGTSCI

Question ID:- 41

The given question is based on the following information :
"M+ N" means ‘M’ is the mother of N;

‘M x N" means ‘M’ is the son of N;

‘M~—N" means ‘M’ is the husband of N:

‘M~+ N’ means ‘M’ is the sister of N;

If ' D+HXR—=P+], then how is ‘D’ related to ‘T ?
Mother




oo e W Frfafed S w anafa 21

‘M+ N’ =1 318 & - M, N #l 9101 &;

‘Mx N’ & 219 - M, N # 7 &

‘M~—N' 1 319 §- M, N &1 9fd &

‘M+N F 19 8- M, N Hl 561 T;

e 'D+HXxR-P+J & ‘D, T 9 fofg yahr graf-ad § 2

(1) He
(2) @A
(3) Ut
(4) W
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42




Three statements showing relationships have been given, which are followed by two conclusions
[ and II. Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

Statements :

1. P<Q
2. 5=>0Q
3. Q>R
Conclusions :
L, R=P
. R=S
1) Only conclusion I is true

Only conclusion I is true

Both conclusions 1 and Il areftrue

A p——
= I
e

Neither conclusion I nor 11 1§ true




1 wsisy 2w are o e faw T ¥ s e & Fremd - 1 s few e ¥ 17w W g TR e e
Tel £, 7 T it f w1 q/A frerd fifved w0 4 98 282

hdH

1. P<Q

2. $>Q

3. Q>R

et

I. R=P

II. R<S

(1) “hae Frendf 1o &

(2) Fae frepd 11w 8
(3) fend I R 11 ST wet €
(4) <l ferel ° 9 e ot HEL A6
Options:-

=1, Option ID :- 165,
« 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166




Question ID:- 43

Eight friends J, K, L, M, P, Q, R and S are sitting around a square table facing the centre of the
table. Some of them are sitting at the corners while some are sitting at the exact middle of the sides.
‘P’ sits third to the left of ‘R’. ‘P’ sits at one of the corners. ‘K’ sits second to the right of ‘Q’. “Q" does
not sit at any of the corners. ‘Q’ is not an immediate neighbour of “P%’S’ is an immediate neighbour
of ‘I". “S" does not sit at any of the middle of the sides. Only threé pérsons sit between ‘S" and ‘L.
Who sits second to the left of ‘M ?




e 3], K, L, M, P, Q, R 3[R S T& eI HS & IR AR IHE h5 ol AL HE Flh S 8 | T7H 4 F9
%l 9 dS § Sfefeh H2 qenedl o faega o 7 o3 €1 P, R % 9l SR I ®IF WASd 8 1P U
FHH F3d 71K, ‘Q o RIS S WIH W ded ¢ ‘Q fREt ot 1§ 7€ e €1°Q), ‘P % UHeH
TErEt R B 1 ‘S, ‘T %1 UheH Terdt 81 ‘S’ fRdt oft e % oe H T8 sea €11 iR ‘L7 % & e dF
=fad dad € 1'M’ % ardil $TR g8 T W &I §3d1 © 2

(1) L
(2) Q
3) S
4) P
Options:-

«1, Option ID :- 169,
= 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44




Three statements are given, followed by three conclusions I, IT and III. You have to consider these
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions logically follow(s) from the given statements.

Statements :

1.  No chair is table.

2.  Some benches are tables.
3. All chairs are Almirahs.
Conclusions :

L. Some Almirahs are tables.
II. Some benches are chairs.
III. No table is Almirah.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Only conclusions I and III follow

(4) Only Either conclusion'T or [I[T"fellows




9 99 A fou o € fome e dF e [ 1 eR I few e €1 eaaert 37 el =61 HE 9 § TR 49
qrd: Faaedl § i &= 9 8 =e ot Fifs s am ova e fon e sl 3 aifthe wu g ferera
2R
hdH :

1. I $H 09 78 ¢

2. FPEFEATI

3. oot fdar sremfaEt €

e

I 59 SediE os € |

I %9 o= Higa g

[II. g TS IR 78l ¢ |

(1) Faa Femd 1 Fepomar &

(2) Fae freRd 11 ol d

(3) Faa fr=rd I &R 11 fehea €

(4) hae =1 o1 Frepd 1 stuen frsed 111 feperan @

Options:-
=1, Option ID :- 173,




= 2, Option ID :- 174,
=« 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45







Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Chair, Furniture, Cup







=5 ¥ " - - - -

(2) @ O

.(0)C




Options:-

=1, Option ID :- 177,
« 2, Option ID :- 178,
= 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Subject : CL_Q36-Q40_KPTGTSCI
Question ID:- 46

Which of the following groups of devices are only iniput devices ?
(1) Keyboard, Monitor, Joystick

=2

Keyboard, Printer, Light pen

&%)

(2)
(3) Mouse, Scanner, Joystick
(4) Mouse, Microphone, Speaker




frefafaa § 9 % o1 feag 998 e 39 feaBd (Input device) & ?
(1) #hI-9Ts, HiHr, Siafes

(2) @i-dre, fhey, amets

(3) HISH, BT, SiAfEs

(4) HISH, HEHIEA, TiH
Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

In computer terminology, DPI stands.for :

(1) Dots Per Inch

(2) Devices Per Internet

(3) Drops Per Information

(4) Digitally Persistent Information




FHFE Wearael § ‘DPI &1 314 %
(1) Sl WA

(2) Tearfow w gewe

(3) ST T EHIHIH

(4) Tefoeel g dwitym
Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48

Which of the following is an‘example.of Operating System ?

(1) Edge

(2) Word
(3) Firefox
(4) Android




frafafed § | o1 s sATqfen fa=y &1 e & ?

(1) W&

(2) @S

(4) UgHe
Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
=« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Which of the following software yotpreferred most to write a formal application ?
(1) Microsoft Edge
) Microsoft Word
) Microsoft Excel
)

Microsoft Access

ST B L

(
(
(4




Tk ST $aed (WHe TwitehyA) foaa o fau oy form arweasr &1 qaifs mafasar € 2

(1) HEHERE TH
(2) WIEHERE g€
(3) IEHIEIR Y
(4) HIEHETR THRY
Options:-

=1, Option ID :- 193,
= 2, Option ID :- 194,
« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

Kaspersky, McAfee, Nortons etc, are"pépular examples of :
(1) Anti Viruses

(2) Trojan Horses
(3) Spam Viruses
(4) Worm Viruses




(1) Tl aPRE
(2) 2ISH B
(3) FH AEH
(4) < aER"
Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
=« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Subject : UL_Q41-Q50_KPTGTSCI
Question ID:- 51

The ‘feeling” is a associated with :
(1) Emotional domain

2

Affective domain

(2)
(3) Cognitive domain
(4)

Psychomotor domain




(1) STaATeHF &

(2) eI &

(3) HAMHS &3

(4) TAMfAS &
Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
=« 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

What do you understand the ferm ‘growth” ?
(1) It is social change.

(2) Itis emotional change.

(3) It is qualitative change.

(4) Itis quantitative change.




‘gfg' U8 ¥ A9 F AT & 7
(1) =% gt gfadd €1
(2) 98 WEARHS UREdd |
(3) FE MU Ufter 2|
(4) 98 HEIHE IRET B

Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

What is not an Objective of BEducation ?
(1) To find fault with others

(2) To develop values
(3) Toearn livelyhood
(4)

4 To serve snciety




freifere ® & @ foren = seva @ 22
(1) 7= =Afeaa | <9 ga

(2) HAl i TaeRiEd

(3)  SArSiiferept AfSid =l

(4) GHS HAT HE
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

In education process which onie of the following is difficult to evaluate ?

(1) Teaching methods
(2) Content

(3) Attitudes and values
(4) Physical fitness




Toreq1 < were H fwAifoRd ® 9 forwent godish & shied 8 2
(1) T fafemr

(2) fawzeas

(3) HROME IR Hed

(4) IR el
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55

Which one of the following isfimportant in “growth’ ?
(1) Dimensions

(2) Development
(3) Social behaviour
(4) Maturation




(1) &mEE
(2) faw™
(3) HMHISTH HeTEr
(4) 9T
Options:-

=1, Option ID :- 217,
« 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Question ID:- 56

Most of the adolescents in school now a days suffer from :
(1) Neurological disorder

(2) Anxiety disorder
(3) Physical disorder
(4) Auditory disorder




77 fei fammera ¥ sifusriy foroin frm fam A 1 22

(1) dfepms fosr

(2) givdEdr fasmr

(3) WHifEs fasr

(4) = fasr
Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
=« 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

The teachers in school should extend
(1) Empathy

(2) co-operation
(3) Emotional support
(4) Sympathy

towards adolescents.




To=e™ & 18a9eh &1 fhelt oF 919 &E Fdig el 91 2

(1) 9ugHid

(2) HEEN

(3) HIEATHE HEAN

(4) e
Options:-

«1, Option ID :- 225,
= 2, Option ID :- 226,
=« 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58

Which one of the following hormones causes aggression among the youth ?
(1) Adrenaline

(2) Insulin
(3) Dopamine
(4) Thyroxine




Fr=ifera 9 9 6T T % SR gToh1 H AR 309 8l o
(1) ufgfem
(2) zgfer

(3) TS
(4) iR

Options:-

=1, Option ID :- 229,
=« 2, Option ID :- 230,
« 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59




Who will form the bridge between the home and school ?

(1) TParents

(2) Students

(3) Teachers

(4) Management

=i § | =11 e 3R foamerd & 77 9 &l % S

(1) Hrar-foar
(2) forened
(3) HALATIH
(4) YeYA
Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
« 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236




Question ID:- 60

can't be taught, but can be caught through practicing.

(1) Habits

(2) Knowledge
(3) Attitudes
(4) Values

T=ifera | 9 o Ugr el S Tehal ¢ dfceh SHaeiiieh B HEH SR T W 3] AHH a1 511 Fadl
¥,

(1)  emed
(2) M
(3)  srfgfei
(4) T
Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
=« 3, Option ID :- 239,
= 4, Option ID :- 240,




Answer Given:- 1, Option ID : -237

Subject : UTL_Q51-Q65_KPTGTSCI

Question ID:- 61

Which type of motivation is better for learning ?
(1) Intrinsic motivation

2

(2) Extrinsic motivation
(3) Emotional motivation
(4)

4 Prugressive motvation

stferm o fou Frifera § @ &9 @1 s sgai® ?
(1) SeAafes Sy

(2) EEd ST

(3) HTEATCHS AL

(4) STRrEC WATaeitel STy
Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
= 3, Option ID :- 243,




= 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

Which one of the following would enhance learning process in classroom ?
(1) Effective use of Black Board

]

) Less number of students in class
) Magnetic personality of teacher
) Comfortable furniture

3

(
(
(4

fr=ifera o 4 foras worasy Hem o At 9 &1 SagT 2 ?
(1) SAHarS &1 et JInT

(2) <han H fagaiyal i Fn g
(3) SALHTYH h AThYSH Hfdicel
(4) SARTHSE Fril=r

Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,




= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

‘The child falls many times while learning cycling’. Which learning theory you think can be atributed
this event ?

(1) Trial and error theory of learning
Law of readiness

S R b

(2)
(3) Insight learning
(4) Perspective learning

"HEHd FAM HiEH % H H HE gl $e 9R MRal e A8 (kA i § | fRweRt 4uit | s § 2
(1) siferm &1 v s Ffe fagn

(2) <o & FEm

(3) @rgre iy

(4) Heull sty

Options:-
=1, Option ID :- 249,




= 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

As per psychology what should be the best relationship betWeen thé teacher and child ?
(1) Official relation

(2) Supportive and emotional relation
(3) Social relation
(4) Cordial relation

HAEHIE g § SAE iR aeidh & 9o kel oY gF =ifey ?

(1) A H9y

(2) HEANTCHS AR HEACHE Had
(3) HHISH HaY

(4) HREYY Hay

Options:-




=1, Option ID :- 253,
= 2, Option ID :- 254,
=« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65

Do you think highly qualified teacher always a successfiil teacher ?

(1) Yes

(2) No

(3) Not necessary

(4) Less qualified teachers are successful




Options:-

=1, Option ID :- 257,
« 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 66

If a parent wants to get admission for their child in a scheol, they should look for :

(1) Attractive Building

(2) Air condition Buses
(3) Big play Ground
(4) Good organizational climate




Ffg TR fYuEF 3791 o & fordl foues § yow foam =ra & @1 39 fHwifed § 9 fees! aamw
HET =T1ET |

(1) AERYe Yo

(2) SR &9

(3) @S Ed & HeH

(4) HUSA *1 I9H 4S9

Options:-

=1, Option ID :- 261,

= 2, Option ID :- 262,

=« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67

If the children take educational tour to a local museum, they develop
(1) Anxiety

(R

Interest

3

(
(
(4

)
) Curiosity
)

Enjoyment
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(1) gfewa

(2) sfvEf=
(3) Scgehdl
(4) ST
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

How you would provide meaningful learning space in school ?
(1) Well qualified teachers with warmth to support children
(2) Well equipped classrooms with teaching aids

(3) Comfortable furniture
(4)

4) Air condition rooms




A faEned H wde A wH R UeE Sl 7
(1) @TeTehi =l HEE L Sl GArg YHAEd =19

(2) HuEfoS e e SR e g
(3) STRIHGE HrAl=T
(4) AR H&

Options:-

=1, Option ID :- 269,
=« 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

To arouse scientific temper aniong the children what should the teacher do in classroom ?
(1) Group discussion

) Conducting experiment in class

) Lecture method

)  Reading the text

(57 B L

(
(
(4
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(1) =9e ¥ famst

(2) R H YA FHEAT

(3) e fafy

(4) HIAGES Herl
Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
=« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

Why text books are required fér learning ?

(1) Students are comfortable with text book knowledge
(2) Since prescribed by the authority

(3) Gives directions to the exam

(4) It would guide the teacher to confine to the syllabus
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(1) Te=nfEin qreagsas 4 Sueied T =i Hesidgas g0 Hid ¢ |
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(
(
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Options:-

«1, Option ID :- 277,
= 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Question ID:- 71

According to educationists thé curriculum should be

Management oriented

Parent oriented

)
)

3) Teacher oriented
) Goal oriented




Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72




When child is admitted in Primary School, which learning theory is attributable for his/her
learning :

(1) Law of effect

(2) Law of trial and error
(3) Law of readiness
(4) Stimulus-response theory

e ferdl sTerer o1 WiatHer faemer™ § iy a1 & 1@ eifemd o fou freiferd § | =F &1 iy
Togid vasa g 2

(1) 99E <k 799

(2) 1Y AR Ffe

(3) 9L k1 fAH

(4) SEA-sEfE sl

Options:-

=1, Option ID :- 285,

= 2, Option ID :- 286,

= 3, Option ID :- 287,

= 4, Option ID :- 288,




Answer Given:- 3, Option ID : -287

Question ID:- 73

The constructive method of teaching and learning would empower

(1) Teacher

(2) The child
(3) Principal
(4)

4 Librarian

FAAF R A FI EEeAE fafa 9 F=ifed § 8 fhas gadie 2 & 2
(1) STEATTH

(2) =T

(3) Y=

(4) RIS
Options:-

«1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,




= 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74

What is the main disadvantage of ICT application in classroom ?
(1) Thinking skills are hampered

(2) Straining of eyes
(3) ICT tools are costly
(4) Always depends on technology

FHeqT | 1 Hl & WA § EHarel e affl 62
(1) feae e aifed 2 g1

(2) S R o gSar g |

(3) 3TE Hi 2t SUHTO HEN S

(4) HH oo Wi 9 e e e g
Options:-

=1, Option ID :- 293,
« 2, Option ID :- 294,




= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

For improvement of the performance of the teachers they should resort to :
(1) pursuing higher qualification.

(2) attending seminars.

(3) taking feed back from the children.

(4) thorough reading before coming to the class.

S| o FRIFET H GUR & fau 3% F=ifea 5 9 fFge gy o =ifeu ?
(1) =aL AEar 9e Ll

) A 9

3) @eTehl @ TIgds U sl

4)  ReI H 37 9 Y8 SAYh AT
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Options:-

=1, Option ID :- 297,




= 2, Option ID :- 298,
=« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Subject : CCLE_Q66-Q80_KPTGTSCI

Question ID:- 76

Persons with Disabilities Act 1995 came into force with.effect from :
(1) January 1996

(2) February 1995

(3) March 1996

(4) April 1995

.y =af arfafem, (Rt afuf=m) 1995 9 @ gen ?
) SFEd, 1996
(2) e, 1995
) AT, 1996
) eTdd, 1995




Options:-

=1, Option ID :- 301,
« 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

When the child is found in the classroom with impaired handwriting the reason could be :
(1) Autism

(2) Apraxia
(3) Dyslexia
(4) Dysgraphia

59 e STereh el § St fofars s €8 T S § < ST 4 HR0T & ekl § 7

T




Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78

Which is the most common mental impairment among the children ?
(1) Depression

(2) ADHD
(3) Maladjustment
(4) Anxiety

ATeAsh] | STHaR W fF=ifera® | i 9t T amn s & 2




Options:-

=1, Option ID :- 309,
« 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

Name the program recently launched by Ministry of Education to help the students suffering from
mental illness :

(1) School Health Program

(2) Manodarpan

(3) Health for all Program
(4)

4) AEP
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(1) *=hdl WA HEHH

(2) #HARYY
(3) Tt o T w=ree wEEH
(4) TEL

Options:-

=1, Option ID :- 313,
=« 2, Option ID :- 314,
= 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

What is the major challenge inéschool to address mental health issue among children ?
(1) Lack of Professional Experts

(2) Lack of funds
(3) Lack of awareness
(4) Lack of time




TeTeh] H HHAE Wy et THen & fary § 9t A & 8 ?
(1) =AEETae el 1 s

(2) Tafet =1 s1vE

(3) SINTE&HAl & AHTE

(4) gHAIYE
Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
=« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Question ID:- 81

Visiting local bank by the students would amount to

(1) Parent student relationship

(2) Teacher student relationship
(3) Home community relationship
(4) Student public relationship
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(1) &Afures femnel deay

(2) ey famnedf Hey

(3) T WS Wl

(4) Tl wwER Hey
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

What is the best kind of leadership in school education ?
(1) Autocratic relationship

(2) Democratic relationship
(3) Servant leadership
(4) Transformation leadership
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(1) EHBMEE g

(2) SRR A

(3) R e

(4) YREd"HRT g
Options:-

=1, Option ID :- 325,
« 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83

What should be the main obje€tive of ‘Institutional planning” ?
(1) Optimum utilization of living and nonliving resources

(2) Academic excellence
(3) Procurement of new assets
(4) To get social recognition




‘Frentes SRSl S HEd YA #1 8F S 2

Options:-

«1, Option ID :- 329,
= 2, Option ID :- 330,
=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332

Question ID:- 84

What is the significance of merning assembly ?
(1) To conduct cultural activities

(2) To promote discipline among the children
(3) To communicate the information
(4)

It is part of time table
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(1) Hipfaer FTHFH 1 TS

(2) @eTehi H TS i ggEl <l

(3) AT YW

(4) FE GHF TR H Y
Options:-

=1, Option ID :- 333,
=« 2, Option ID :- 334,
= 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85

Why schools should be assesséd ?

(1) To get social recognition

(2) To get funds from donors

(3) To know the strong and weak areas of the school
(4) Self publicity




Toremeri =1 Yedish 1 fohan ST =nfey ?
(1) SIS J-=ra] 9 i 8d

(2) EFEwais & fAfET e e
(3) ¥ % I R oA 94 S 7
(4) YA Y= T BY

Options:-

=1, Option ID :- 337,
« 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86

What the school should do to'improve teachers performance ?
(1) Incentive to teachers

(2) Better service conditions
(3) By giving less work load
(4) Deputing all teachers to nservice course on regular basis
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3) THEYR HH R
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Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
« 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87

The pairing of two neighboring schools would help

(1) sharing the resources for better learning

o

m reducing the burden of admission

3

(2)
(3) 1n exchanging the teachers
(4)

4) conducting common sport activities
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(1) =@ Al % fou SaE i qEEr!

(2)  ATHIHA o g ] HH H H
(3) SIEAIhI o EH UM H
(4) @ HHHH! ol Wi H |
Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88




NCF, 2005 focuses on
(1) to recruit qualified teachers

learning without burden

&0 B L

(
(
(4

)
) to improve ambience of the school
)

to promote sports education

T urETETE ', 2005 § fEifEd § 9 e W ge e g ?
(1) =g Toeenl =1 Fgfe 0 W

(2) g Ued st 9

(3) Termmem =1 AR YU W

(4) shre-Toem 9@ & ©

Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
=« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350




Question ID:- 89

According to RTE Act, 2009 what should be the age of the children ?

(1) 1 -8 years
(2) 0-6 years
(3) 6 - 14 years
(4) 0 - 18 years

foren o1 eifempr SAfufem, 2009 & AR &=l &1 g fepael @ =nfeu 2
(1) 1-87

(2) 0-69Y

(3) 6-14 99

(4) 0-18 =d
Options:-

=1, Option ID :- 353,
« 2, Option ID :- 354,
=« 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355




Question ID:- 90

According to NEP 2020, what is the minimum age of child to get admission in formal school ?

(1) 4 years
(2) 5 years
(3) 6 years
(4) 3 years

T2t Toren H1fd, 2020 % ER, 9= &9 4 f=ned 1 999 & 6o Zaaq 37 =41 § 2

(1) 494
(2) 59u
(3) 67°m
(4) 399
Options:-

=1, Option ID :- 357,
« 2, Option ID :- 358,
= 3, Option ID :- 359,

=« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358




Subject : SCI_Q81-Q180_KPTGTSCI
Question ID:- 91

Which physical property would be most useful for determining whether two samples of metal are
the same or not ?

(1) Mass
(2) Volume
(3) Colour
(4) Density

uTq % G T Uk & U % & A e e i e fan we | sifaes o ged seEnh g ?

(1) ===HH

(2) AEdH

(3

(4) A
Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,




= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92

At room temperature and 1 atm pressure, the molecules are farthest apart in :
(1) Chlorine

(2) Bromine
(3) Iodine
(4) Water

FHL o ATHMA 3R 1 atm @ T fFEFH S0 TG H A 2 7

(1) A
(2) S
(3) SAEREH
(4) i
Options:-

«1, Option ID :- 365,




= 2, Option ID :- 366,
=« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

The melting and boiling points (in °C) of some elements are@ivervin' the table below :

Element Mercury Phosphorus  Radon Gallium
Melting point -39 44 —71 30
Boiling point 357 280 — 62 2400
How many of these elements are solidé at25°C and 1 atm pressure ?
(1) 0O

2

(2) 1
(3) 2
(4) 3




F Tedl o ol AL FaSAH (°C ) == S 78 difers § feu 7w § |

T U1K TRTER I == e
AR —39 44 71 30
FUAIFH 357 280 6 2400

=78 9 foram dea 25 feull Sfcasg 2t 1 atm 29 W 29 Bid &2

() 0O
2) 1
3) 2
(4) 3
Options:-

=1, Option ID :- 369,
« 2, Option ID :- 370,
=« 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94




During the process of boiling of pure water in a beaker, the bubbles that initially rise to the surface
are composed primarily of :

(1) Air

(2) Hydrogen

(3) Hydrogen and Oxygen
(4) Water Vapour

G S 1 A § Farer @ wime # I U Fi AR 39, a1 gedel gedd: fHEes 59 g ® 2
(1) =7

(2) wESeH
(3) @SS S AT
(4) Seramy

Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
=« 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374




Question ID:- 95

Which one of the following is an exothermic process ?
(1) Ice melting
Boiling soup

(S B L

(
(
(4

)
)  Ammonium theocyanate and Barium hydroxide are mixed at25°C, the temperature drops
) Condensation of water vapour

Frfafad 5 | M 9 S 9shH § 2

(1) &% 1 foee

(2) Seleddl g3l HH

(3) STHIFTY gEEEe iR afEy grgieEe s e | auaE i R S
(4) STAAT™ R AT

1
2

Options:-

=1, Option ID :- 377,
=« 2, Option ID :- 378,
= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379




Question ID:- 96

What statement describes a chemical property ?
(1) Its crystals are a metallic grey.

(2) It dissolves in alcohol.
(3) It forms a violet coloured gas.
(4) It reacts with hydrogen to form a gas.

FF G FYT THAEE 707 H1 I T § 2
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Options:-

=1, Option ID :- 381,
= 2, Option ID :- 382,
« 3, Option ID :- 383,
= 4, Option ID :- 384,




Answer Given:- 4, Option ID : -384

Question ID:- 97

What is the total number of atoms (atomicity) represented in a compound having formula
MgSO,7 H,0O ?

(1) 6
(2) 8
(3) 21
(4) 27

MgS0,7 H,O §3 &R T ¢ Fifier § YR &t el He& (aehdr) Tt g2

(1) 6
(2) 8
(3) 21
(4) 27
Options:-

«1, Option ID :- 385,
= 2, Option ID :- 386,
« 3, Option ID :- 387,




= 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

A bus is accelerating uniformly as it passes two checkpoints that are 60 m apart. The time taken
between the checkpoint is 6 s and the speed of the bus at the se¢6tid checkpoint is 16 ms—!. The
speed of the bus at the first checkpoint is :

(1) 4 ms~!
(2) 8ms!
(3) 12ms ™!
(4) 16 ms~!

60 m g R o <) it el 3 geavrE SEEETH R0 9 T 9 @ B S ST S & e
HYAAUE 6 5 T T HY A= Areh! G T BhAE 16 ms— | 8 | Tl ST il =ikl U o S HIel 7 2

(1) 4ms~!
2) 8 ms~!
(3) 12 ms™|
(4) 16 ms—!
Options:-

=1, Option ID :- 389,




= 2, Option ID :- 390,
=« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

An elevator is moving downward in the shaft at 4 m/s when'@nutfrom the bottom of the elevator
comes out and strikes the bottom of the shaft in 1 s. The height of elevator from the bottom of the
shaft when the nut just fell off is : (Take acceleration due,to gravity as 10 m/s?)

(1) 1Tm
(2) 4m
(3) 9m
(4) 14 m




IR H 4 m/s i 9 J A" it 3R TfqaE fFE fawe 5t F=e 908 9 0F 72 Foa = & S IR &
qelt T 1 s H SHUA ¢ | 7€ o oL et ¢ g 999 fawe =i v &1 9t § S=m8 & off ?

(T @0=10 m/s%)

(1) 1m
(2) 4m
(3) 9m
(4) 14 m
Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100




A ball after falling from rest under the influence of gravity for 4 s falls on a horizontal glass plate.
Because of collision, the ball looses three fourth of-its velocity. If the ball reaches the ground 2 s
after the collision, the height of the glass plate above the ground will be : (Take g=10 ms )

(1) 60m

(2) 40 m
(3) 30 m
(4) 20 m

T o wE H form § Fl g8 18 712 4 5 % A SN 1 Wie H TH! § | 36 HHE & HRU IS F
71 H 1 e e & S ¥ 1 3l e gug 2 s weE gt w ugEd € @yt @ i ol we B S0
FE? (g=10ms2)

(1) 60 m
(2) 40 m
(3) 30m
(4) 20 m

Options:-

«1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,




= 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Question ID:- 101

The softness of a sound wave is determined by its :
(1) Speed

(2) Amplitude
(3) Frequency
(4) Wavelength

Pt sy a7 % g Forers g0 Favitf 2l 3 7

(1) =
(2) AT
(3) s
(4) e
Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,




= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

Which one of the fmﬂmwmg is a fundamental conservation law 2
(I) Conservation of energy

(2) Conservation of momentum
(3) Conservation of mass
(4) Conservation of mechanical energy

Frefafaa # 9 9 91 TF gy S a9 &2

(1) Fsh |

(2)  HeRT |

(3) THHM HLET

(4) =ik S &
Options:-

«1, Option ID :- 405,




= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 1, Option ID : -405

Question ID:- 103

A 4 kg object is moving at a speed of 5 m/s. The constarit'foreesneeded to stop the object in
5x104 s will be

(1) +4x10%* N in the direction of motion.

(2) +20 N in the direction of motion.

(3) 4100 N in the opposite direction of motion.
(4) +4x10* N in the opposite directioft of mbton.

4 kg M 1 T 98 5 m/s ] = | Tfd # W12 1 39 U8 1 5% 104 s H o = forg siawass fraa
e o | 1 B 2
(1) Wfdel e H +4x1074N
) TIfd @t fgen H +20 N
(3) fd <kt fagde feen 9 100 N
) TIfd ol faodia feon 5 +4x 104N




Options:-

=1, Option ID :- 409,
=« 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

All the following masses are possible for an individual Carbon atom except one. The impossible
one is :

(1) 12.00000 u
(2) 12.01115 u
(3) 13.00335 u
(4) 14.00324 u




fordll st (SAfteTrd) e WHY] & fau T =l Sige efafad 94t 2o 4998 § | ST6Yd 299
HiA T1E?

(1)  12.00000 u

(2) 12.01115 u

(3) 13.00335 u

(4) 14.00324 u

Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105

On heating, C1,0-» decompases to formi'Cl; and O,. What s the ratio of Chlorine to Oxygen molecules
in the product ?

(1) 2:7
2) 2:14
(3) 3:7
4 7:2




TH T W CLO, 19afed B Cl, 3R O, TR & | R H FAR F A SR ATRISH & STl & o9
ST A E 7

(1) 2:7
(2) 2:14
(3) B8:7
4) 7:2

Options:-

=1, Option ID :- 417,
« 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

The scattering of a-particles by thin metal foils establishes that :

(I) The mass and positive charge of an atom are concentrated in a nucleus.

(2) Electrons are fundamental particles of all matter.
(3) All electrons have the same charge.
(4) Atoms are electrically neutral.
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Options:-

=1, Option ID :- 421,

= 2, Option ID :- 422,

= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107







Which one of the following graphs cannot be a correct displacement(s) - time(t) variation for the
motion of a particle ?
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Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

The workdone needed to move a body of 2.0 kg from an‘elevation of 1 m to an elevation of 10 m,
against the gravitational field of the earth is : (take & =10 m/s?)

(1) 20]
(2) 180]
(3) 200 ]
(4) 2207




gedt o T 43 & faud 2.0 kg i UF 9% 1 1 m 396 ¥ 10 m 9% G% o S % ATE9TH FHE F
B ? (g=10 m/s2 SifSQ)

(1) 207
(2) 1807
(3) 200]
(4) 2207

Options:-

«1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109




A bullet having a speed of 160 m/s passes through a plank of wood. After passing through the
plank, its speed is 140 m/s. Another bullet, of the same mass and size but travelling at 60 m/s, is
fired at the plank. Assuming that the resistance of the plank is independent of the speed of the
bullet, the second bullet’s speed after tunneling through will be nearly equal to :

(1) 24 m/s

(2) 40m/s
(3) 49 m/s
(4) 60 m/s

160 m/s <! =16 § TIaHE Uk el fRdl gl et H B S § | T H TSR o 99 e i =@
140 m/s & ST € | THT SS9 qA1 6K %1 Th 957 el St 60 m/s 1 =6l | Tfaa 8, T 9 g
STt & | 7 A U TR e ok wfade et st wte oY R TR o, O 9 Rl e o U gud el shi
a5 1 Frepeqm aH §

(1) 24 m/s
(2) 40m/s
(3) 49m/s
(4) 60m/s
Options:-

=1, Option ID :- 433,




= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

A boy throws a 0.2 kg stone from the top of a 15 m cliff with,a spéed of 20 m/s in downwards
direction. The kinetic energy of the stone when it lands in'a river*below will be :

(Take g=10 m/s?)

(1) 0

(2) 30]
(3) 40]
(4) 70]

U TgeH U 0.2 kg o Tk G ol 68l 15 m 3%l =1l § 20 m/s =1 =el & e =t SR Tehen 1
& IR ARG THE eer skt wiferst et s ER1 2 (g =10 m/ s> i )

(1) 0

(2) 30]
(3) 40]
(4 70]




Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

A 0.5 kg ball falls pas a window, whose top is 1.8 m in vertical extent from the ground. If the speed
of the ball at the top of the window is 8 m/s, itssspeed at the ground will be :

Take g=10 m/ 52)

(

(1) 10m/s
(2) 8 m/s
(3) 6m/s
(4) 5m/s




0.5 kg 1 T g fordll fass! fowe o508 fo A 9 1.8 m 31 %, 9 2o ot ¢ | fgsst & oo iy
R AfE 7S I AT 8 m/s 7l STR! YH WA § : (g=10 m/s>FT )

(1) 10m/s
(2) 8 m/s
(3) 6m/s
(4) 5m/s
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

119
How many protons, neutrens and electrons are there in the Ten ion SGSHH ?
(1) 119 protons, 50 neutrons, 119 electrons.
(2) 50 protons, 69 neutrons, 50 electrons.
(3) 50 protons, 69 neutrons, 48 electrons.
(4) 69 protons, 50 neutrons, 67 electrons.




fot ot |, Sn? i foRe e, =2 oi e ¥

(1) 119 WM, 50 =g, 119 =M

(2) 50 WM, 69 =2, 50 SR

(3) 50 U2, 69 72, 48 Tl

(4) 69 YIEH, 50 L, 67 TR
Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113




Atom T has 3 valence electrons and atom S has 6 valence electrons. The formula expected for an
ionic compound of T and Sis :

(1) TS,
2 TS,
(3) TS,
(4) TS

W] T H 3 ARl Soaed € i T S H 6 Haresha seiag § 1 T 3RS & et dife & fau

(1) T.5;
(@ T35,
(3) TS,
(4 T,5

Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452




Question ID:- 114

Which one of the following physical quantity is not a constant ?
(1) Mass of an elementary particle

(2) Weight of an object
(3) Permitivity of vacuum
(4) Speed of light in free space

fFrafafea sifaes aftedl § | 7 @ 0 feris @882
(1) gt qer 9 w1 geqHH

(2) Tordt g =1 9

(3) Trata =1 faegasiterd/ querdis

(4) HHKI R H YR hi =
Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,
= 4, Option ID :- 456,




Answer Given:- 2, Option ID : -454

Question ID:- 115

A boy having a mass of 60 kg holds in his hands a bag weighing 30 N. The force with which the
floor push upon his feet will be : (Take g=10 m/s?)

(1) 90N

(2) 360 N
(3) 630 N
(4) 900 N

60 kg ZEIHM 1 Teh TSRl 794 B9l H 30 NMR =l Teh &1 Iehe § | H91 BRI 3HH T W HW sl AR &
A 9 81 : (g =10 m/s2 AT

(1) 90N
(2) 360 N
(3) 630 N
(4) 900 N

Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,




= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

An 120 kg metal cyljnder 25 m long and with each end of area 40 em? stands vertir:ally on one
end. The pressure exerted by the cylinder on the floor will bew(Také g=10 ms =)

(1) 480 N/m?

(2) 7.5%10* N/m?
(3) 12x10* N/m?2
(4) 3%10° N/m?

120 kg B9 =1 Tk 2.5 m v Hifcareh ffervst e v f83 40 cm?® &3 1 €, Tk fil = |1y
FeATY: wel 7| fafaret g Byl W ARG 59 © : (g =10 ms 2 @ife)

(1) 480 N/m?

(2) 7.5%10* N/m?

(3) 12x10* N/m?

(4) 3x10° N/m?

2

Options:-




=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

A hydraulic lift in a service station has a large piston.30 ¢in th diameter and a small piston 3 cm in
diameter. The force required on the small piston to lifta load of 2000 kg will be : (g=10 m/s?)

(1) 200 N
(2) 400 N
(3) 600 N

(4) 2000 N




fopelt wife =M 1 U gaantad faw H 30 cm =919 1 Teh 921 {9529 91 3 cm 219 1 T B foeq &
212000 kg % IR %l 33 F fau 12 e W faaw 9@ #1 smavasd et 2 (g =10 m/s?)

(1) 200 N
(2) 400 N
(3) 600 N
(4) 2000 N
Options:-

«1, Option ID :- 465,
= 2, Option ID :- 466,
=« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

A metal ball weighs 0.096 N When suSpended in water it has an apparent weight of 0.064 N. The
density of the metal will be%(dénsity of water =10 kg/m3)

(1) 0.67%10% kg/m>
(2) 1.5x10° kg/m?
(3) 3x10° kg/m?

(4 6x10° kg/m?




foredt enfeaer g &1 YR 0,096 N T 5ief § @ W 9 U 4R 0.064 N §1 91 & 994 © :
(ST T 5 = 10° kg/m°)

(1) 0.67%10% kg/m3

(2) 1.5x10° kg/m?
(3) 3x10% kg/m?
(4) 6x10° kg/m?
Options:-

=1, Option ID :- 469,

« 2, Option ID :- 470,

= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

There are two stable isotopes ©f Carbon. They differ with respect to :
(1) Atomic mass

(2) Number of protons
(3) Atomic number
(4) Electron configuration




T S TR  HRAE ea g 1 I e fre weu | e g ?

(1) TEH] Zo4HH
(2) I I HEA
(3) UTHIY] HET
(4) sSARM fa=™

Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120




A mixture containing 15 g of Carbon and 25 g of Oxygen is sealed in a flask. The total mass of the
system is 140 g. The flask is then heated to react the Carbon and Oxygen. What will be the mass of
the sealed flask after heating ? |

(1) 40g

(2) 100 g

(3) 140 g

(4) Itis impossible to predict

15 T e SR 25 UMY iadTs arel g1 sl Uk e 1 diereg sie # femn s 2 | 39 e & g
TEIUM 140 U9 T, THF 91 G 1 TH fohan s g foud s ol st sifufra @ €1 e
& 91 YieTsic YeT=h Sl SoAHH BT 2

(1) 40 7™M

(2) 100 7T

(3) 140 W™

(4) sfasgaTol #R AT STHYE §
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,




= 3, Option ID :- 479,

Answer Given:- 3, Option ID : -479

Question ID:- 121

If the Hydrocarbon C,H, is burned in Oxygen gas, Carbon dioxide and water are formed, as
described by the unbalanced chemical equation

GH,; + O, - CO,+H,O
When the equation is balanced properly, we predict that'one mole of C,H, will :
(1) react with one mole of O,
(2) form two moles of CO,
(3) form three moles of water
(4) react with four moles of O,




e BRI C,H, %l SRS T8 H Sl Sl 8, o1 s SE-siiawss 3R S sal ¢ 58 smgfom
A FHRT BRI T G910

C,H, + O, - CO, +H,0

TR o Hferd fopT WM 9, O 89 Fe S1gaH o € foh C,H, 1 T Hiet
) O, % U A & | AR s g

) CO, % 2 Hied S B |

) @9 G ST ST §

4) O, % =R Hid % "y A 2

(1
(2
(3
(
Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,

= 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122




The minimum volume of a block of wood (density =800 kg/m?), if it is to hold a 50 kg person
entirely above the water when he stands on it will be : (density of water 1000 kg/m?)

(1) 0.25 m?

(2) 0.8 md
(3) 1.18 m?
4) 1.25m°

fordll TTREl & =eish (S = 800 kg/m?) 1 AaH. 210 FEM, Al [k & TR TS 50 kg GFTH
g AT T F T3 o SR Y0 &Y F W T2 (Sid 1 ¥ = 1000 kg/m?)

(1) 0.25 m?
(2) 0.8 m’
3) 1.18 m°
(4) 1.25m?
Options:-

=1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,
= 4, Option ID :- 488,




Answer Given:- 4, Option ID : -488

Question ID:- 123

Which one of the following expressions correctly gives the Ohm’s law for a conductor ? (Symbols
have their usual meanings)

1
(1 V=g

=5
(2) V=7
(3) V=R

V=IR

&




fopdt =merer & o =i & o =1 frefeafaa =iseel § @ 5 U & 5R 9l St T 9T © 2 (Wil &
A 319 € 1)

[
V=—
(1 =
R
(2) M===
I
3) V=R
4) V=IR
Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 4, Option ID : <492

Question ID:- 124




The potential difference required to pass 4A current through a 24 () resistor will be :

(1) 96V
(2) 48V
3) 6V

(4) 15V

24 O F ToFet gfaliers | 4 A 4R yaifed =0 & fou eeyas favai® ©

(1) 96V
(2) 48V
3) 6V
(4) 15V

Options:-

«1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125




A current of 2.0 A flows down a straight metal rod that has a 0.20 cm diameter. The rod is 2.0 m

long, and the potential difference between its ends is 40 V. The resistivity of the material of the rod
will be :

(1) 1256 pd m

(2) 628 pdm
(3) 314 pOm
(4) 157 pQm

0.20 cm =09 &t Tt Theht enfeas 98 9 2.0 A 910 YaIfea 21 & 8198 i @aE 2.0 m § 991 39 fall &
Ty feEiat 40 V8 | 9 % 91e o1 SfoRiusge s g 2

(1) 125.6 pOm

(2) 628 uOm
(3) 314 uOm
(4) 157 pOm

Options:-

=1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,




Answer Given:- 3, Option ID : -499

Question ID:- 126

A 90 cm long copper tube has an inner diameter of 0.8 cm and an outer diameter of 1.0 cm. The
electric resistance of the tube when used lengthwise will be :

Take resistivity of copper 157 x107% () m)

(

(1) 109.7 pQ
(2) 180 pQ
(3) 2813 pQ
(4) 500 pQ

5t 90 cm TSt 78 =T FTEAT ST TR FHH 08 cm T 9183 =99 1.0 cm ¥ | ST 3 SFG9 WER F: W
THe S wiedie 1 2 ? (@8 1 AR =157 %108 Q m )
(1)  109.7 pQ

(2) 180 pQ
(3) 281.3 p0
(4) 500 pQ

Options:-

=1, Option ID :- 501,




= 2, Option ID :- 502,
« 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

The resistance between points A and B is :

WA AN
i 60 90
WA
150
(1) 290
(2) 750
3) 150
(4) 186 O




fogeTl A IR B & 97 U1y T

—VV VWA VWA N—
6 ) 9
A— ——B
CAAAA
15 Q)
(1) 2.9 Q
(2) 750
(3) 15Q
(4) 18.6
Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128




The value of resistor R in order to have current [ equals to 0.45 A, will be :
¥
il

1

300
1) 150 ©
(2) 200 Q &

(3) 250 Q

(@) 300 O 0



YRITF 045 AAA & fau yfor R 94 2

|45V
i 11
— NV
300 £}
VAVAVAVAY
R
(1) 150 Q
(2) 200 Q
(3) 250 Q
(4) 300 Q
Options:-

=1, Option ID :- 509,
= 2, Option ID :- 510,
=« 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511




Question ID:- 129

A He?™ ion travels at right angles to a magnetic field of 0.80 T with a velocity of 10° m/s. The
magnitude of the magnetic force on the ion will be :

(electron charge=1.6x 10~ C)
(1) 0.64x10~ ¥ N

(2
(
(

) 1.28x10" M4 N
3) 256x10~ 1N
4) 512x10"M“N

& He2* o foredt 0.80 T gt & # &3 % @oaq 105 m/s o7 9§ Tfom™ €1 39 STFH W @ arat
eI T 1 YRET § : (TR A A= 1.6 1019 Q)
(1) 064x10-"M N

(2) 128x10~¥ N
(3) 256x10"1¥ N
(4) 5.12x10"# N
Options:-

«1, Option ID :- 513,
= 2, Option ID :- 514,
=« 3, Option ID :- 515,




= 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130

How many grams of SbF; are needed to produce one gram of Freon-12, CCl,F,, according to the
reaction represented by this equation ?

2CCl, + 2SbF; — 3CCl,F, +25bCl,

Substance Molar Mass
SbF, 179 g mol !
CCL,F, 121 g mol !

(1) 0.667 g

(2) 0.986 g

(3) 150 ¢g

(

4 222¢g




9 HHIRI g WA SAfNPRa & STHR, T UH WisAH-12, CCLLF, & 3caed & g fed 7™ SbF, i
SV Bl & ?

2CCl, + 2SbF; — 3CCI,F, +2SbCl,

garef HieR 0T

SbF 179 ¢ mol —1
CClsF; 121 ¢ mol !
(1) 0.667 g

) 0.986 g
) 150¢g
) 222¢

2. N

(
(
(4
Options:-

=1, Option ID :- 517,
=« 2, Option ID :- 518,
= 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 3, Option ID : =519

Question ID:- 131




Some metals can be obtained by heating the metal oxide with Carbon. This process is called :
(1) Combustion

(2) Electrolysis
(3) Oxidation
(4) Reduction

YT SATHAIES 1 HTa o W1 TH ek FS UU I i o, Jehgll o | T8 W &

(2) seRIfaAfEE

(3) ST (ST=EA)
(4) TTEIA
Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524




Question ID:- 132

The following chemical reaction

AgNO, +NaCl — AgCl | +NaNO;,

is an example of which kind of reaction ?
(1) Combination

(2) Decomposition

(3) Displacement

(4) Precipitation

Tafafaa s sfafsa
AgNO; +NaCl — AgCl] +NaNO,

forg gRR ot Afuferen 1 SR &7
(1) HarsH

(2) s9=ed (fadem)

(3) Tormms

(4) A&

Options:-




=1, Option ID :- 525,
« 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

A circular coil of radius 40 mm consists of 100 turns of conducting wire and the current through it
is 20 mA. The magnetic field in the centre of the coil will'be : * (n,=4 wx10~7Hm™ 1)

(1) B.14dx10=>T
(2) 471x10-5T
(3) 628x107°T
(4) 1.26x1074 T




40 mm 5= =1 Tl ada Fosal § e TR+ 100 B E 991 399 20 mA &+ 9/ Yaiisd 8 @l g1
FHUSE! & hg W IR FA H AT 8 : (py=4wx 107 Hm )

(1) B.14x10 T

(2) 471%10=>T
(3) 6.28x107°T
(4) 1.26x1074T
Options:-

«1, Option ID :- 529,
= 2, Option ID :- 530,
=« 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134




A solenoid 0.5 m long has 2000 turns of conducting wire. The magnetic induction near the centre
of the solenoid is 0.08 T. The current through the solenoid will be approximately :

po=4wx10~7 Hm~1)

(

(1) 10 A
(2) 16 A
(3) 24 A
(4) 32 A

0.5 m @ gfATfass § "o aR F 2000 HLE | TRAleER F % % e 0.08 T #1 gaeg 110 7
uftTferest | Yarfed o/ 1 fHeead 79 € (=% x 10~7 Hm ™))

(1) 10 A
(2) 16 A
(3) 24 A
(4 32A

Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
=« 3, Option ID :- 535,




= 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

Match the Table - I and Table - II, given below and then using the code below the tables, select the
correct answer.

Table - I Table <11

(Phenomenon) (Scientist)
(A) Heating effect of electric current ()o. “Michael Faraday
(B) Magnetic effect of electric current (i1) “Joule
(C) Electromagnetic induction (iif), Hans C. Oersted
(D) Potential difference between two peints (iv) Alessandro Volta
Code :
(1) (AX(), (B)ii), (C)-(ii), (D))
(2)  (A)(), (B)-(v), (O)-(D), (D))
(3)  (A)-(ii), (B)-(iii), (C)-(AD)W)
(4)  (A)-(v), (B)(iii), (C)-(i), [D)~(i)




-1 et - 11
(aftere=m) CEUEED
(A) Taga 9y =1 are guE (i) HEHA WIS
(B) fagd = e y9E () S
(C) AYTGTRT T (i) FH . o
(D) < foiged & o= fasEim (iv) SATerET=] dieel
? -
(1) (A)-(i), (B)-(ii), (C)~(iii), (D)-(iv)
(2)  (A)-(iD), (B)-(iv), (C)-(i), (D)-(iii)
(3)  (A)(i), (B)-(iii), (C)-(1), (D)-(iv)
(4)  (A)-(iv), (B)-(iii), (O)-(ii), (D))
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
« 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539




Question ID:- 136

Which one of the following statements is not TRUE in regard to the hearing of sound ?
(1) The audible range of sound for human beings ranges between 20 Hz to 20 kHz.

]

Sounds of frequencies below 20 Hz are called infrasonic waves.

2

(
(
(

) As human grow older, their ears remains equally sensitive for all frequmcies;,

4) Dogs can hear sounds having frequencies upto 25 kHz.

A Y gogal F fau fr=fafe s § 9 9 o1 v g e g ?

(1) ¥FaEl % fau s=fF %1 go3a /M 20 Hz 390 kHz % 59 2 2

(2) 20 Hz gl ¥ w8 # AT 2ugsy Gl wean T

(3) ATl st 3G g W off 37k M Geihamafad & foau aum w9 9 gl 59 & 7
(4) T 25 kHz 2T d %l &8 i1 H9 Tohd € |

Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
« 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544




Question ID:- 137

An incident ray of light makes an angle of 25° with the normal to a plane mirror. The mirror is then

so turned through 7°, making the angle of incidence for the same ray of light 32°. The reflected ray
will then be rotated by angle :

(1) 3.5°
(2) 7.0°
(3) 10.5°
(4)  14.0°

foret THaer =dm W 3Tgfad weRTer =t U TR et & 2Afye § 250 %R I oA B 1 S99 R 72 H 39

TR H S 5 35w foRor et sde Rir 320 &1 S ® 1 wEfad fRor fRa s 3 g
S 2

(1) B.5°
(2) 7.0°
(3) 10.5°
(4) 14.0°

Options:-

«1, Option ID :- 545,
= 2, Option ID :- 546,




= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 2, Option ID : -546

Question ID:- 138

Which one of the following is a displacement reaction ?

(1)  Mg(s) +Cly(g) = MgCly(s)

(2) HCl(aq) + NaOH(aq) — NaCl(aq)+ H,O(l)
(3) CuSO,(aq)+Fe(s) — FeSO,(aq) + Cu(s)
(4) 2PbNO,(s) — 2PbO(s) +4NO5(g) + O5(g)

frafafea & @ 9 @ = faremmm fifma g2
(1)  Mg(s) +Cly(g) » MgCly(s)

(2) HCl(aq) + NaOH(aq) —.NaCl(aq) # H,O(1)
(3) CuSO,(aq) +Fe(s) —»FeSQ,(aq) + Cu(s)
(4)  2PbNO4(s) = 2PbO(s) ¥4NO,(g) + O, (g)

Options:-
=1, Option ID :- 549,
=« 2, Option ID :- 550,




= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Burning of Coal is a/an :
(A) Combination reaction
(B) Endothermic reaction
(C) Exothermic reaction
(D) Decompsition reaction
Choose the correct option.

(1) (A) only
(2)  (C) only
(3) (A) and (C) only
(4) (B) and (D) only




FFC! ol T & TH

(A) HaH stfafsm

(B) FeATeIST saffsran

(C) Feenardt saffsran

(D) s (fagme) sifufsman
et fose T4 1

(1) e (A)

(2) wFe ()

(3) “hEE (A) R (C)
(4) e (B) 3N (D)
Options:-

«1, Option ID :- 553,
« 2, Option ID :- 554,
= 3, Option ID :- 555,
= 4, Option ID :- 556,

Answer Given:- 3, Option ID : -555

Question ID:- 140




The correct formula for Calcium chlorite (bleaching powder) is :
(1) Ca(ClO,),

(2) CaClO,

(3) Ca(ClO,),

(4)  Ca(ClOy),

N FANEE (SATET TISS) Tl Tl T &
(1) Ca(ClOy),

(2) CaClO,

(3) Ca(ClOs),

(4) Ca(ClO,),

Options:-

«1, Option ID :- 557,
= 2, Option ID :- 558,
« 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141




Which of these salts should be dissolved in water to produce a solution witha pH <7 ?
(1) Sodium acetate

(2) Potassium nitrate
(3) Aluminium chloride
(4) Sodium hydrogen carbonate

pH < 7 & T faeaa a9 & fou fafafas 8§ 3 &9 Siaan 5o 9 sen =ifee ?

(1) wHifeaq e

(2) dreferyg Agee

(3) TG FRES

(4) HifeTH BEGSH Hiei-e
Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
=« 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564




Question ID:- 142

Which of the following metal oxides is amphoteric ?
(1) CuO

(2) Na,O
(3) MgO
(4) ALO,

(1) CuO
(2) Na,O
(3) MgO
(4) ALO,

Options:-

«1, Option ID :- 565,
= 2, Option ID :- 566,
=« 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143




An object 12 mm high is placed at a distance of 0.4 m from a concave mirror. The radius of
curvature of the mirror is 0.4 m. The location of the image will be :

(1) 02 m
(2) 04 m
(3) 0.6 m
(4) 08 m

12 mm S9E &1 i farma foret staaa SUor € 0.4 m T8 W W@ § | 5901 &) Fhar-Be 0.4 m § 1 wfafea
i feerfa s 8t 2

(1) 0.2m
(2) 04m
(3) 0.6 m
(4) 08 m
Options:-

=1, Option ID :- 569,
=« 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570




Question ID:- 144

A diverging lens forms an image one-third the size of an object that is placed 24 cm from the lens.
The focal length of the lens will be :

(1) 6 cm
(2) 8 cm
(3) —10 cm
(4) —12cm

fordt SToarl | § 24 e T W @ ot o9 1 ufgles, foa & o & ww-foeE aes & s=9a 21 o9
ﬁ‘ﬁ’%ﬁqﬁ%

(1) 6 am

(2) 8 cam

(3) —10 cm

(4) —-12 cm
Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,




= 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

Which metal will react most vigorously with water ?

(1) Na
(2) K

(3) Mg
(4) Ca

Ht H1d S & WY "l gua AR w80 2

(1) Na
(2) K
(3) Mg
(4) Ca
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
=« 3, Option ID :- 579,




= 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

Metallic zinc will not reduce :

(1) Cu2t
(2 HT
(3) AgT
(4) M?i—i—
=4 ¥ fy uifas e =i =& o2
() Cut
(2 HT
(8) Ag™
(4) AP+
Options:-

=1, Option ID :- 581,
« 2, Option ID :- 582,
= 3, Option ID :- 583,




= 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

In the electrolytic refining of copper, an electric current is passed through a cell containing a pure
copper electrode, an electrode of impure copper, and an aqueous solution containing copper ions.
In this process, the impure copper electrode is called the :

(1) Anode

(2) Cathode

(3) Reference electrode
(4) Indicator electrode

e o S STUSSAT IR H Uk YH A o SoiagiS, S disl o1 Teh Se19rS IR diel o &A1l a1l U
SteAr farerr arel fordt O H faggd ardarfed &1 €1 3w 9k H o die (S 9 Ses @
11 el I B 7

(1) TAE

) e

3) e s

(
(
(4) HHaw-seERIS




Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
=« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148

When dilute Sulphuric acid is added to Zinc granules, which one of the following gases will be
evolved ?

(1) Sulphur dioxide
(2) Hydrogen

(3) Oxygen

(4) Hydrogen sulphide




5 & gl § o Sewrfie o faem o1 W frefafed § @ 0 9 19 feeert 2
(1) ¥HTF SEHAEEES

(2) TEGSH

(3)  SATeRdTSH

(4) TSN HEHES
Options:-

«1, Option ID :- 589,
= 2, Option ID :- 590,
=« 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

What type of compound is EH;CHsCOCH, ?

(1) Alcohol
(2) Aldehyde
(3) Ketone
(4) Ether




CH,CH,COCH, ¥ ¥R 1 AIfi B 2

(1) UHRIA

(2) TfcsgEs

(3) M

(4) TW
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

In the complete combustion/t Butaneythe products obtained are :
Water and Carbon

)

) Butanone and Water

) Carbon dioxide and Water
)

Carbon dioxide and I—Iydmgen




FIH % U] G871 o 341G Bl B ¢
(1) 9t AR HEe

(2) A AR
(3) ohTEA SESATFAEES AT T
(4) hEA SEHAFIES AN TEESH

Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
« 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Question ID:- 151

When Ethanol is heated with Sulphuri€ acid, the major product is :
(1) Ethane

(2) Ethene
(3) Ethyne
(4) Ethyl sulphate




e AT o Hefier v & WY T fRA S 8, O WHE 3AE ©

(1) T
(2) T
(3) W
(4) TfUd wehe
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

Any saturated hydrocarbonfthat is classified as an octane must have the molecular formula.

(1) CgH,

(2) CgHyy
(3)  CgHyg
(4)  CgHyg




ot oft Hyw TRSEEA R eifae % w9 § avfierd foman T €, 39 oTfvass g3 & =ifen
(1) GCgHg

() CgHyy

(3)  CgHyg

(4)  CgHyg
Options:-

«1, Option ID :- 605,
=« 2, Option ID :- 606,
=« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 4, Option ID : -608

Question ID:- 153

How many grams of MgCO5 contain 24.0 g of Oxygen ? (The molar mass of MgCOj; is
84.3 gmol 1)

(1) 422¢
(2) 843 g
(3) 126 g
(4 154 g




fope I MgCO, H 24.0 T SIS 21 €2 ( MgCO, T Hiel §599H 84.3 gmol ~ ! B)
(1) 422¢

(2) 843 ¢
3) 126 g
(4 1 g

Options:-

=1, Option ID :- 609,
=« 2, Option ID :- 610,
« 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

For hearing a distinct echo/by the htfhan, the time interval between the original sound and the
reflected one must be at least :

(1) 0.01s
(2) 01s
3) 1s
(4)

4 2s




el & fau, e gfasat g9 & e 9o = 991 qwafad == & &= e e $9-9-%0 999
SIS STEYF Bl & 7

(1) 0.01s
(2) Ol1s
3) 1s
(4 2s

Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155

Which of the fo]lmwing is nota Colloid ?

(1) Milk

(2) Mud

(3) Butter

(4) Boric acid




freafafag § @ 359 9 Foee 98 82

(1) <

(2 fagd

(3) Ha@Gd

(4) =Nfr 1%
Options:-

«1, Option ID :- 617,
= 2, Option ID :- 618,
=« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

Which of the following phenomenon does not occur in sound wave ?
(1) Diffraction

)  Reflection

) Polarization
)

ST B |

(
(
(4) Interference




Frefafed aftaestl § ¥ o[ 4 T @[ a0 | 7281 g 2

(1) feaeeH

(2) 9=

(3) gdu

(4) AfdeRTOl
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
=« 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157




Given that the acceleration due to gravity on the moon is one sixth that on the earth. A person can

throw a stone 10 m straight upward on the earth. Assuming same throwing speed, the height, the
person will be able to throw a stone on the moon is :

(Take acceleration due to gravity =10 m/s?)

(1) 30 m
(2) 60 m
(3) 90 m
(4) 120 m

feam Ton 2 o =i W qEEE @01 gL ) gEE 97 T 6 2| U AR 926 W 10 m HY S H SR
Yoot theh Hehdl © | WA w1 TET fd § 98 e S99 9T UeeR 1 fRaA SEE d SoTe W ?
(TTETRYT o R ©0T=10 m/s?)

(1) 30 m
(2) 60 m
(3) 90 m
(4) 120 m

Options:-

«1, Option ID :- 625,
= 2, Option ID :- 626,




« 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

Identify the greenhouse gases from the list given below and answer from the codes given.
(A) Water vapour

(B) Ozone

(C) Carbon monoxide

(D) Nitrogen

Select correct answer from the following codes.

(I) Only (A) and (B) of the above.

(2) (A), (B) and (C) of the above.

(3) Only (A) and (D) of the aboye.

(4) Al of the above.




= fou o & 9§ 9 ey 19 1 9gee 9 fou T e ¥ a2
(A) SieraTsy

(B) 3ISIH

(C) e HHIATFIES

(D) I

192U 7T e | HRl Sl G |

(1) S9EK H ¥ had (A) 3R (B)

(2) W& H I (A), (B) &R (C)
(3) S H T Faa (A) R (D)
(4) e HHt

Options:-

=1, Option ID :- 629,
« 2, Option ID :- 630,
= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159




Which of the following is not an example of the group algae ?
(1) Fucus

(2) Porphyra

(3) Sphagnum
(4)

4) Polysiphonia

frafafag 8 § @9 1 59 9 F1 358 T8 82

(1) I H

(2) HEREREA

(3) WHEH

(4) UifTHREHI
Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
=« 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633




Question ID:- 160

In which of the group of organism Algin carbohydrate is found ?

(I) TPhaeophytes
(2) Rhodophytes
(3) Pteridophytes
(4) Gymnosperms

fore W9 o SaaiEl § e A\ 96y 9E Sl 8 2

(1) fFAreEe
(2) USIHEE
(3) efEe
(4)  STAEASTSI
Options:-

=1, Option ID :- 637,
= 2, Option ID :- 638,
« 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638




Question ID:- 161

Identify the organism from the option given below which is always heterotrophic.
(1) Nostoc

(2) Bacteria
(3) Mucor
(4) Chlamydomonas

T4 feu v fawmed § 9 39 " & 989 HL S Yog ST € ¢ |

(1) Hr=reh

(2) itamy

(3) HHT

(4) FHESHMAN
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644




Question ID:- 162

Which of the following is a wrong statement about system of binomial nomenclature ?

(1)
(2)

(3)
(4)

Name of an organism is a combination of the name of genus and species together.

While writing the name of an organism first letter of the genus and species name is written in
capital letters.

Genus and species names are italicised while printingg
Name of the author who first described the organismi may also be written after species epithet.

foue e ugfa & fau fefafes 4 9 5 9 v Ted F9F 8 2

(1)

fordll off Sfta =1 A SHek S9 s RIS o I R 9= 2

fopdit ot Sfta o =9 @1 Torad SRR Es SIiHd Td THI9S & A & 929 3181 o 9 39870 | foman
ST

BUE F G S e TS ol e e s e R

o1 Tk A ot Sffg & Tectt 9R 9uiF fopan 2iaT § SEe A1 TS S9AM % 9= foran o
Tl &

Options:-
=1, Option ID :- 645,




= 2, Option ID :- 646,
=« 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

Cnidoblasts are specialized cells used for the purpose of :
(I) Movement of water among coelenterates.

(2) Defence among coelenterates.

(3) Defence among Echinoderms.

(4) Digestion of food among Annelids.
(1) HrereE % Wit 8§ 5/ 6 598 7
(2) HierE % uriort o geen By

(3) WehTEAISHe % wiford H YR B

(4) TAerer o gifoEl H e g

Options:-




=1, Option ID :- 649,
« 2, Option ID :- 650,
=« 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Which of the following is correct match for disaccharide/sugar ?
(A) Maltose : Glucose + Ribose

(B) Sucrose : Glucose + Fructose

(C) Lactose : Galactose + Fructose

Select the correct answer from the options given below :
(I) Only (A) of the above.

(2) Only (B) of the above.

(3) Onlv (B) and (C) of the above.

(4) y (A) and (B) of thie above.




Frefafed 5 & =@ fgeeht & fou W& SiEt 572 .
(A) HIE2H : g + TEad
(B) I[hIM : TAhIST + HaiH
(C) WRM : TiRH + HaE

19 fou 7T e | w@H Sl T |

(1) W H H hael (A)

(2) SHREK H ¥ kdd (B)

(3) S H 9 Fad (B) T (Q)
(4) YR H 9 Had (A) TH (B)
Options:-

=1, Option ID :- 653,
« 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165




Which one of the following statements is incorrect about triglyceride ?
(1) These are non-polar in nature.

(2) These are formed from glycerol.

(3) Glycerol of the molecule has two —OH groups.
i
(4) —OH groups of glycerol binds with — C— OH groups of fatty acids.

ZEfiege F fau f=fafed § @ @6 @ s aa g |
(1) 3 31y gfa & 34 )
(2) 4 fremier § 57 g1
(3) 31 frewiia 5 /1 — OH 998 s 21
0
(4) WM—OHWWW%—E—OH e & WY &Y T ¥

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
=« 3, Option ID :- 659,




= 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166




Which of the following structure is not found in proteins ? Identify the same and answer from the
codes given below :

H O
|l

R
P
|
H
R H
|
Cis Q= N—=C—=C
Q | I
H O
Code :
(1) Only (A) and (B) of the above
2) B) of the above
Only (
(3) Only (B) and (C) of the above
(4) Only (C) of the above







frafafad § 9 7 & 5= 9eE | 78 0% St 82 3991 IB9H H @ A" R T Fe ¥ 3w

H O
| I

(B) R—==

7
T— 0=
o




Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Idenl-ify the Eymbicvtic nitrogen fixing bacteria from the f{}]lowing and select the code for correct
answer from the codes given below.

(A) Azotobacter

(B) Azospirillum

(C) Rhizobium

Code :

(1) Only (C) of the above

(2) Only (B) and (C) of thesabave
(3) Only (A) and (C) of the above
(4) All of the above




frefafed 5 9 wgeiret TgaeH feerdeor Sitar &t vg=H & e f5u T e § 9 98 3aR a1 %2 H°
A P |

(A) USiHRR

(B) TsIfERerd
(C) UsSTIfaFH
e :

1) 3 H 9 %Ed (C)
2) S H H %ed (B) W (C)

3) ST H H hEd (A) W (Q)
4)  SUUE Y H gl
Options:-

=1, Option ID :- 665,
« 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168




To which group of kingdom fungi mushrooms are classified ?
(1) Ascomycetes

(2) Basidiomycetes
(3) Deuteromycetes
(4) Phycomycetes

FaF 9 o FE THE H§ FFI I aFiha fha S & 2

(1) T=REEREEE

(2) wfafedmefada

(3) SFAFEREEE

(4) REFRMEEEEE
Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,
=« 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 2, Option ID : -670




Question ID:- 169

To which of the following animal phylum Pleurobranehia belongs ?
(1) Coelenterata

(2) Ctenophora
(3) Mollusca
(4) Hemichordata

st frefafad 5 9 foerm wiftn du & siafa o 872

(1) et
(2) ZHETBRI
(3) HICTEhT
(4) efFeice
Options:-

=1, Option ID :- 673,
= 2, Option ID :- 674,
« 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676




Question ID:- 170

Structure parapodia is observed in which group of animals ?
(1) Crustacea

(2) Annelida
(3) Ctenophora
(4) Porifera

e Te & wifvrEl & grdifean e S uE S 82

(1) sheeferE
(2) TAfAEr
(3) RGBT
(4) IR
Options:-

=1, Option ID :- 677,
=« 2, Option ID :- 678,
= 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680




Question ID:- 171

Which of the following is popularly known as Vitamin-E ?
(1) Calciferol

(2) Cyanacobalamin
(3) Tocopherol
(4) Phytonadione

frefafes o 9 forg defug w9 o faarfim-2 & TS St s & 7

(1) Hfcqrtie

(2) HIEATEIETAT A

(3) <RI

(4) wEHSHAITSAA
Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,
= 4, Option ID :- 684,




Answer Given:- 4, Option ID : -684

Question ID:- 172

Identify the food sources for Calcium from the following options and select correct answer from
the codes given below :

(A) Milk

(B) Salmon fish

(C) Rice

(D) Beans

Cnde -

(1) Only (A) and (B) of the above

(2) Only (B) and (D) of the above
(3)  (A), (B)
(4) (A), (B)

and (C) of the above
and (D) of the above




frefafea & @ 39 ¥om Skl %1 veam w5 Sieem foem 2 wd 9 fer o ge 4 § 96 sar @
A W |

(A) ¥ (34)

(B) HIoHA Al

(C) =rEd

(D) e

(1) SRR H ¥ %ad (A) 3R (B)
(2) —m“raﬁﬁﬁ?ma(s)afr{(n)
(3) W H F (A), (B) #R(C)
(4) IRER H H (A), (B) 3 (D)

Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
=« 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 4, Option ID : -688

Question ID:- 173




Identify the wrong statement about human heart from the option given below.
(1) Aorta arises from right ventricle.

(2) Opening between left atrium and left ventricle is guarded by bicuspid valve.
(3) Right ventricle receives deoxygenated blood.
(4) Sino-atrial node is present in right atrium.

TMd ged & fou frafafad fawed § & ot w9 &1 Team & 7
(1) wereH afed fem & fererd § 1

(2) =M Infers we o frer & sra & g gt e fore aes urn s 2
(3) wife fiera sitadierifed T T g |
(4) ArE-enfas Are <ifEs enfere A saftem e €1

Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
=« 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691




Question ID:- 174

Which of the following is not a function of Lymph ?
(1) Carrier for nutrient

(2) Exhibiting immune response
(3) Transport of oxygen
(4) Absorption of fat

frafafeg § 9 =9 91 awiw 1 5 T8 202

(1) 99 9@
(2)  wfaeen gfdafsran =t Afvsafe
(3)  SHIFHIS hl =R
(4) S I ST
Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
« 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696




Question ID:- 175

What is the term used for total volume a person can breath in after normal expiration ?
(1) Expiratory capacity

(2) Inspiratory capacity
(3) Vital capacity
(4) Tidal volume

31d: 998 &1 98 U1 ST Sl U SAfed A= . 3959 o 918 X Tehal & SH 1 e & 7
(1) F:vaEa ama

(2) STd:¥aET &Hd
(3) i &Hdl

(4) SEHE A
Options:-

=1, Option ID :- 697,
« 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698




Question ID:- 176

Process of gaseous exchange during respiration takes place between :
(1) Epithelium of alveoli and Epithelium of blood capillary.

)  Epithelium of alveoli and Endothelium of blood capillary.

) Endothelium of alveoli and Endothelium of blood capillary.
) Endothelium of alveoli and Epithelium of blood capillarys,

N

(
(
(4

vaa & 9o T fafrm =5 i o ©

(1) iYeRT =1 IUekell UG iR SIS Hi3SUHA & i
(2) et 1 SUFe T HR el whsia.sa & S
(3) iUl =1 Sid:Fen TH THT KRS i 3e:Her & o=
(4) i1 T Ad:Hen Ud T FREHE ®T Sqwe F i

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
« 3, Option ID :- 703,
= 4, Option ID :- 704,




Answer Given:- 2, Option ID : -702

Question ID:- 177

During the process of cellular respiration i.e. glycolysis which of the following is not a 3-carbon
atom compound.

(1) Pyruvic acid
(2)
(3) 2-phosphoglycerate
(4)

Dihydroxy acetone phosphate

Fructose 6-phosphate

HITRTT TTTH i Glepdn SFITq RHiaiad & 6y frafafed § 9 o6 @ 5% 1gd 78 7
(1) 9rIiesr 37

(2) CEEEEEH UM HehRe
(3) 2-HERITEEE
(4) THERIH 6-REHR

Options:-

«1, Option ID :- 705,
= 2, Option ID :- 706,
=« 3, Option ID :- 707,




= 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

Symplastic system in plant is formed through which of the following ?
(1) Mycorrhiza

(2) Plasmodesmata

(3) Casperian strip
(4)

Cohesion-tension pull

Frefafea o 9 forad gr ol H farenfies 93 s6a @

(1) HEHTEST

(2) TEARHISEHR

(3) wEREA 9z

(4) HESH-TE fE=E

Options:-
=1, Option ID :- 709,
« 2, Option ID :- 710,




= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179

Which of the following statement is wrong for pollen grain ?
(1) It contains generative cell.

It contains vegetative as well as generative cell.

(S B L

(
(
(

)
)  Generative cell of pollen grain is spindle shaped
)

4)  Generative cell of pollen grain give rise three male gametes.

TR & e Frefafea 8 | @ o wee Tan €2
(1) HH S I 9% S §

(2) =9 FIFE TH S HIGEFNEAL B |

(3) URETERY I ST IR AT Al ¥

(4) TIATERYT Sl SHA IR F @ A JIHF I € |

Options:-
«1, Option ID :- 713,




= 2, Option ID :- 714,
« 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

In which of the following plant endosperm is not completely usedhanid remains present in mature
seed ?

(1) Peas

(2) Castor

(3) Ground nut
(4) Beans

frefafaa 9 | forg 919 § vy 1 901 &9 8 39 & 21 § Ud faesiad ais 5 3ufeed 2 @ 2

(1) =X
(2) STUE]
(3) e
(4) et

Options:-




=1, Option ID :- 717,
= 2, Option ID :- 718,
= 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718

Question ID:- 181

Which of the following is diploid in case of human spermatogenesis ?
(1) Secondary spermatocyte

(2) Spermatids
(3) Sertoli cells
(4) Spermatozoa

e THISHTEE @ fou Fr=fafed | § 1 5o g 2
(1) fgdi=es waHdwmEe

(2) FHfes

(3) Herel iRt

(4) EAHISE




Options:-

=1, Option ID :- 721,
= 2, Option ID :- 722,
= 3, Option ID :- 723,

= 4, Option ID :- 724,
Answer Given:- 4, Option ID : -724

Question ID:- 182

Level of which of the following hormone does not remaitnat its peak level at the time of ovulation
in human female 7

(1) Follicle stimulating hormone
(2) Leutinizing hormone

(3) Progesterone

(4) Estrogen




Mg Al H S & 999 fohe 3 =l Y 319 e W W Td @ @ 2
(1) RifcAfhel Swistsh BrEH

(2) gfemEfsT gHA
(3) USRI

(4) TESH
Options:-

=1, Option ID :- 725,
= 2, Option ID :- 726,
= 3, Option ID :- 727,

= 4, Option ID :- 728,
Answer Given:- 2, Option ID : -726

Question ID:- 183




Match the cell organelles in column - I with their functions in column - II.

Column - I Column - 11
(A) Lysosomes (i) ‘Power houses” of the cell that stores & releases energy
(B) Mitochondria (1) Store nufrients and water
(C) Cell wall (iii) Digestive bags which fight against infection inside the cell
(D) Ribosomes (iv) Help in protein synthesis \
(E) Vacuoles (v) Providing protection and rigidity to the cell
(1) (A)-(iv), (B)-(ii), (C)(v), (D)-(i), (E)~(ii)
(2)  (A)-(i), (B)-(i), (O)-(v), (D)-(iv), (E)-(ii)
(3)  (A)(v), (B)-(), (O)~(v), (D)-(ii), (E)-Gii)
(4)  (A)(), (B)-(i), (O)-(v), (D)-(), (E)=v)




WY-1 ¥ Ifeafad R il & TY-11H fu 7u 379 & 9 fHems sifsu .

wWY-1 wW-11
(A) EEEY (i)  =ImER o wfEe STl St & Hed SR i g g
(B) HREIEHIE (i) U d AR S H =T HE §
(C) =iyl (i) are el Sy wifvreR % siiew Hwao § ged €
(D) TEEEM (iv) WIEH Heerm H HeE Bl ¢
(E) Tgur (v)  eITYmRT o1 Seen i gedi @ g |
(1) (A)-(iv), (B)(ii), (C)-(v), (D)-(i), (E)-(ii)
(2)  (A)(ii), (B)-(1), (©)~(v), (D)(iv), (E)-(ii)
(3)  (A)-(@v), (B)-(), (O~(v), (D)-(ii), (E)(uii)
(4)  (A)-(i), (B)-(iii), (C)-(iv), (D)) (E)-(V)
Options:-

=1, Option ID :- 729,
« 2, Option ID :- 730,
=« 3, Option ID :- 731,

= 4, Option ID :- 732,
Answer Given:- 2, Option ID : -730

Question ID:- 184




Select the correct statements about Rough Endoplasmic Reticulum (RER) among the following :
(A) Helps inlipid synthesis.

(B) Ribosomes are attached to its surface.

(C) Situated near the plasma membrane.

(1) (A)and (B)
(2) (A) only
(3) (B) and (C)
(4) (B)only




o siageht Sifern [T Uit Yegew (SREam)] F o § Freifrg 4 w8 e gh
(A) Ie fafre gvemo & gemes o 2

(B) VMM Y3 Y HaG BN B |

(C) 7% s fereet & wHy feerd Brem ¥ |

(1) (A) 3R (B)
(2) hEE (A)
(3) (B) ¥R (C)
(4) 9 (B)
Options:-

«1, Option ID :- 733,
=« 2, Option ID :- 734,
=« 3, Option ID :- 735,

= 4, Option ID :- 736,
Answer Given:- 1, Option ID : =733

Question ID:- 185




Which of the following statements about Pteridophytes is not correct ?
(1) They are seedless plants.

(2) Flowers are the reproductive organs.
(3) Plant body is differentiated into root, stem and leaves.
(4) They have specialised tissue for conduction of water.

REmrEe % IR H fFrifra § § S W FHuE E N6 g 2
(1) 3 sioRfed IRy & 2 |

(2) 59 S T §
(3) UTEY @i Wg, a1 AR Uil d fauda fean S g
(4) ST % Hagd o fog sad favied s el ¢l

Options:-

=1, Option ID :- 737,
= 2, Option ID :- 738,
= 3, Option ID :- 739,

= 4, Option ID :- 740,
Answer Given:- 1, Option ID : -737




Question ID:- 186

In which of the following forms do the most plants absorb nitrogen ?

(A) Proteins

(B) Nitrates and nifrites
(C) Urea

(D) Atmospheric nitrogen
(1) (A)and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) only




AR 9gy fA=ifeha O 9 f69 ©9 § T1g2ie &l 990 & © 2

(B) TELe SR AEg2Ee
(C) Ffem

(D) AgHSHE ARSI
(1)  (A) ¥R (B)

(2) (B) 3R (O)

(3) (C) 3R (D)

(4) e (D)
Options:-

=1, Option ID :- 741,
= 2, Option ID :- 742,
= 3, Option ID :- 743,

= 4, Option ID :- 744,
Answer Given:- 2, Option ID : -742

Question ID:- 187




Read the following statements and select the correct option.

Assertion (A) : Rate of breathing in aquatic animals is much faster than that seen in terrestrial
organisms.

Reason (R) : Aquatic organisms like fishes obtain oxygen in the dissolved state from water.
(1) Both (A) and (R) are true and (R) is the correct explanatiomof (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A)is false but (R) true.

Ftferfiar e @1 Tfen st Wt foamey i -
arfireRer (A) : Sieft Sl § vaa & < qida el @t ga o 9gd AAfues J8 S T 2
HROT (R) : Sl sitg Si9 mafaai sia § gt staee § Siads Tev & ¢ |

(1) (A) 3R (R) S Tt €, 2W(R), (A)/H T ==& Fdl 2 |

(2) (A) #R (R) TFT 9 & 5 (R), (A) T G = & e |
(3) (A) 9@ %, 9% (R) Ted o |

(4) (A) T §, T (R) HE B

Options:-




=1, Option ID :- 745,
« 2, Option ID :- 746,
= 3, Option ID :- 747,

= 4, Option ID :- 748,
Answer Given:- 1, Option ID : -745

Question ID:- 188

Which of the following turns the pressure variations frem seund waves into electrical signals in
the inner part of the ear ?

(1) Eardrum
(2) Cochlea
(3) Anvil

(4) Pinna




Fefafad 5§ 9 &E &0 (F1H) & A 97 9 e[ 780 o g6 fa=wo #1 a6 @eas | giEfdd

(1) <9 Yo

(2) T

3) fE

(4) FHuITA
Options:-

=1, Option ID :- 749,
=« 2, Option ID :- 750,
=« 3, Option ID :- 751,

= 4, Option ID :- 752,
Answer Given:- 1, Option ID : -749

Question ID:- 189




Read the statements below :

(A) All bacteria are unicellular.

(B) All protozoans are unicellular.

(C) All fungi are unicellular.

Which of the above statements is/are correct 7
(1) Only (A)

@ (A) and (©) . @
(3) (A)and (B)
(4) (B)and (C) 20



= feu 7u el i ufeu

(A) Tt Sfam U wHiferena & €
(B) it UISISIIST Weh hIfVhIA Bl & |
(C) Wt ek Wk HIfVERTE Bd 2 |

I H I i =1/ FUA g B8 2
(1) Fa@ (A)

(2) (A) ¥R ()

(3) (A) @R (B)

(4) (B) ¥R ()

Options:-

=1, Option ID :- 753,
= 2, Option ID :- 754,
= 3, Option ID :- 755,

= 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Question ID:- 190




Which of the following statements is/are true for flowers ?
(A) Flowers are the sexual reproductive organs.

(B) Flowers are always bisexual.

(C) After fertilization, flowers give rise to fruits.

(1) (A)and (B)

(2) (A)and (O @
(3) (B)and (C) R
(4) Only (A) Q

Q
S



sy & day § frafafed § § &9 978 FoF 98 2R 2
(A) 9o AfiTeR S & o €

(B) I Hed AT Bd & |

(C) A=A & e Yo H Hel S e 2 |

faerea
(1) (A) ¥R (B)
(2) (A) 3R (C)
(3) (B) 3R (C)
(4) FEA (A)
Options:-

«1, Option ID :- 757,
= 2, Option ID :- 758,
« 3, Option ID :- 759,

= 4, Option ID :- 760,
Answer Given:- 2, Option ID : -758






